B SRAT A& 22 T 2N F 1T D A TRIB B SE oD i

1. 78 B Rl A% 4 7 ok SRS D SR L
(1) “PR204F eI ER D AT PR SR
(SF-R204E5 11 20 F HUABIBRIC (R 2 b )
(HAZ 2 b %)

N S K5 A I R TR SR AR EE L

2 K * ¥ -~ v 7H~10H 170, 674 100. 2
2 K & v 95 0 7TH~9H 56, 738 95.7
2 K & v 95 0 10A~11H 15, 059 101.6
7 - S S VA W 3 8SH~9A 746 78.2
2 7w - vy, 7TH~9H 46, 976 97.5
2 k ~ ~ 7TH~9H 63, 722 94.8
K F~ b (2 =) 7TH~9H 3, 569 97.7
2 ~ ~ ~ 10A~11H 16, 865 97.5
K F~ b (2 =) 10A~11H 1,067 105.5
B % 7 7 7TH~9H 24, 080 98. 2
B % 7 9 10A~11H 4,619 106. 3
K Iz vy, r vy, 8 H~10H 57, 970 99.1
B e\ & 7TH~9H 11, 632 98. 2
B s < = W 7H~10H15H 87, 820 102. 1
Z 2 o A E D 7TH~9H 5, 622 94. 8
2 L v 2 8 H~104 64, 956 100. 2

= 7t 632, 115 99. 0




(2) FRIVEEERICERIRTERMNEE

(BA7 : TH)
SIEXE S K} G2 7 1] R A A A2 R

I e ¥ ~ b4 4 A~5H15H 5, 096
I e ¥ ~ b4 5H16H~6H 17, 603
72 K ¥ ¥ v 7H~10H 147, 966
&S X ¥ ~ b4 11H~12H 46, 653
2 Kk X P 9 n 7H~9H 7, 853
2 = P 9 0 103 ~11H 2, 495
£ KX P 9 n 5H~6H 15, 358
£ KX P 9 0 11H218~2H 180, 471
S = & WY S 10H~12H 453
S X & A S 1A~3AH 1,737
I 72 A - vy 4A~6H 211, 648
= -l W - vy 7H~9H 308, 045
S A z 'y 10H~12H 47,575
S 2w - vy 1A~3AH 1, 752
- F h ¥ (B 5 ) 4 A 549, 959
- F h X (B 5 ) 5H~6H 751, 722
: ES 12 = 7H~10H 90, 457
= K ~ ~ ~ 7H~9H 22,108
E &K F~ b (X =) 7H~9H 405
= K ~ ~ & 103 ~11H 18
&S I ~ ~ & 12H~2 H 182, 311
L K b~ b (X =) 12H~2 H 228, 226
&S I ~ ~ ~ 5H~6H 92, 352
L K b~ b (X =) 5H~6H 158, 126
= K S ki 7H~9H 130, 719
= K S ki 103 ~11H 188, 677
&S I S ki 5H~6H 185, 945
&S I VA ki 12H~2 H 93, 599
kOB T A r A 4A~5H 750, 104
R Y, r A 6 H~7H 433, 850
K iz Y r vy 8 H~10H 735, 952
&S Iz 'y, C 'y 11H~12H 77, 865
I e} = 4A~6H 27, 560
= e} = 7H~9H 51, 733
K &S e} = 10H~12H 374
I X < X A 4A~6H 156, 714
= X < = U 7H~10H15H 864, 132
S Ix < = W 10H 22
S Ix < = W 11H~12H 4, 862
- s < X A 1A~3A 12, 720
X v Lox (Bl 58 ) 4A~6H 787, 983
s n A L I 7H~9H 76, 461
2 K = g 6 H~7H 11, 898
2 K - = vz 8 H~10H 30, 269




£ R - = N 4H~5H 147, 258
£ R - = | 6 H1H~6HI15H 12, 791
VI S - = N 11H~12H 6, 604
£ R - = N 1H~3H 14, 905
S o) noooAZ o) 4H~6H 6, 469
B3 o) noooAZ o) 7H~9H 14, 558
&3 P U v % o) 10H~12H 40, 172
S o) noooAZ o) 1H~3H 2,018
I L o 2 4H~5H 37,902
= K i 2 6 H~7H 213, 838
= K i 2 8 H~10H 598, 757
7S 12 o A 10416 H~10H31H 13, 719
A 12 A s 11A 272,995
7S 12 o 2 12H~2H 2,927, 605
&S L o 2 3H 3, 754

= i 12, 005, 173




2. BHEEHTRTE

HIEEROERRINR

(1) FROFEEXRIZHRLIRMATHHRE

(HA7 : t . %)

k% R K 5 T 11 ] AT T B AR L

L K v - 9~ v 4H~5H 12.0 75.0
s X < = U 4H~6H 150. 0 —
/INEF CERR204E 2 H 20 B HABARR) 162.0 1,012.5

S - ) 0 5H~6H 58.0 71. 6
&S I 7 7 5H~6H 129.0 300. 0
7= ES 1 = 5H~6H 100. 0 100. 0
/NEF CEAR204F 3 H 20 H FHAIRR) 287. 0 128. 1

= K % 4 Z| 6 H~7AH 320. 0 110. 7
/INEF CER204E 4 H 20 B HABARR) 320. 0 110.7

) 72 B z Iy 6 H~7H 30. 0 100. 0
2 Kk ¥ ¥ v 6 H~7H 270. 0 225.0
) [ < = U 6 H~7H 342.0 255. 2
/INEF CER204E5 A 20 H HHAHIRR) 642. 0 226. 1

a & 1,411.0 173. 6




3. HEHFXFHIGEMFRMBEEMEERICTRIMSEMGBAE R TEE

O FrE By MR PE B A A 2 Ae 3 (HAL - TH)

KGR E T 5 HH g 1] B pk 4 A 1A fili A% =il AG A 2 AR
7 A X Z A 5H~6H 676 2,028
AN A 7TH~9H 124,119 372, 358
VY 1) - 4 H~5H 5, 847 17, 540
VY 1) - 1H~2H 2, 140 6, 420
VY 1) ) 3 A 2,102 6, 305
Z 72 ES o) 6 H~9 H 608 1,824
H N 4 H~5H 46 139
> 5 10H~12H 1,901 5, 704
H N 1H~3H 374 1,121
7> B 5 S 5 A 65 196
D B3 15) % 6 HA~7H 849 2, 547
7> B 5 S 8 H~10H 96 287
7> B 5 S 11A~124 23 68
h VT Z T = 10H~12H 579 1,738
h VT Z U = 1 H~3H 2,734 8, 203
H 'y L X 7TH~9H 9, 043 27,129
D 'y L X 10H~12H 1,724 5,171
g ) - v ¥ — R 6 H 8 25
- 4 P) 10H~12H 29, 142 87, 426
- 3 P) 1 H~3H 276 829
= B4 9) 4H~6H 12,112 36, 336
- 4 P) 7TH~9H 21, 327 63, 980
- ES 2 AN 4 H~6H 71 212
z ES 2 AN 10H~12H 438 1,315
z ES 2 AN 1H~3H 257 770
S R W AT A 6 H~10H 319 956
L P A x < 4 H~6H 537 1,610
L P v = < 10H~12H 2, 589 7,768
L P 'y = < 1 H~3H 2,988 8, 965
4 VY > 6 H 3, 373 10, 119
T VY H 7TH~8H 15, 326 45, 978
A A4 — F a — v 6 H~7H 203 608
A A4 — F a — v 8H~9H 52 156
+ % ) — 11H~12H 5 15
+ % ) — 4 H~5H 174 521
+ % ) — 6 HA~7H 113 338
+ % ) — 8 A~10H 403 1,210
N v ) — 1 H~3 A 2, 447 7,340
% 5 ES o) 5H~6H 1,448 4, 345
Y V- 5A~6A 2, 304 6,911
H AT A S W 7TH~9H 1, 387 4,162
Y V- 10A~114 327 982
H AT A TN 12H~2H 1, 382 4, 147
£ L W 7= B 5H~6H 156 469
£ L VY 7= B 7H~10H 664 1,991
£ L VY - B 11H~12H 465 1, 394
\z 5 7H~10H 3, 482 10, 447
\z 5 5H~6H 829 2, 488




\z 5 11A~2H 2, 654 7, 962
\z 5 3H~4H 33 100
\z A 1z < 5H~6H 140 419
1z A 1z < 7H~9H 13 40
N = 4 A 916 2, TAT
N = 5H 544 1,633
N = 11A~1H 855 2, 564
7 B vy o J - 4 4~6H 4,158 12, 475
7 v vy o J - 103 ~12H 9, 404 28, 213
7 B vy o J - 1~3H 27,771 83, 312
F e 8 4 4~6H 8, 334 25, 001
F e 8 7H~8H 7,834 23, 502
F e 8 9 H~12H 23, 463 70, 389
F e 8 1~3H 9,183 27, 548
A o N 4 H 5 14
A = N 54 203 610
A = N 6 A~7H 292 877
JAS b W 1) 4 4~6H 53, 664 160, 991
JAS gD VY 1) 7H~9H 11, 566 34, 698
AN H A H 104 ~124 3, 759 11, 276
AN H A H 1A~3H 3, 872 11,617
< ES ) VY 1) 4 H~6H 1,335 4, 005
< ES %) VY i) 10H~12H 723 2, 169
< ES ) VY 1) 1 H~3H 313 940
n 'y - 'y 9 H~12H 232 697
Zn 7 7 6 H~9 A 463 1, 388
\z b P) U 4 4~5H 1, 158 3, 475
iz b P) U 6 H~9 A 673 2,019
HboX x 9o GEH) 5H~6H 9, 020 27, 059
boXxx9o (R 5H~6H 8,773 26, 319
/)N it 448, 884 1, 346, 651

O  IRERRAS T S R (HAL - T1)

(£2%5)

SE Lt K5 g 1] ] B k4 A3 148 A 7= flife A B

" ¥ Y ~ Y| 4H~5HI15H 5, 936 11,871
" X Y ~ v 5 H160~6/ 19, 035 38, 056
2O x x Y 7 H~10H 2,534 5, 068
%4 ¥ Y ~ 4 1173 ~12f 16, 357 32,713
%4 ¥ Y ~ 4 1H~3H 4, 354 8,709
g K _x w 95 b 7TH~9H 2,518 5,018
2 K _Ex w 95 b 10 ~11/ 1, 689 3, 377
S - . 5H~6H 819 1, 635
A K & w9 | 11H21H~2H 2, 247 4,494
- S-S - AN 10 ~12f 45 91
e 72 VN z 'y 4 H~6H 4,984 9,913
=) - VY - 'y 7TH~9H 18,512 37, 023
o & F W Z A 10 ~124 1,907 3,811
- S A y.Y 1H~3H 5, 558 11,115
2 b~ ~ ~ 7H~9H 10, 230 20, 434
g bk ~ b 104 ~11H 775 1, 549
% i ~ ~ k 5H~6H 21, 840 43, 672




4 K b ~ ~ 124~2 H 3,410 6, 820
2 % I = b+ = b 7H~9H 800 1, 600
4 F I = b = b 5H~6H 8, 793 17, 586
£ KB I = b+ = b 124~2 H 7, 107 14, 214
g K JAS 5B 7H~9H 15, 438 30, 596
g K JAS 5B 103 ~11H 6, 657 13,314
%4 fes JAS 5B 124~2 H 456 913
%4 " JAS 5B 5H~6H 2,320 4, 640
F H I A U A 4 4~5H 5, 265 10, 530
F OH I A U A 6 A~7H 6, 489 12,977
%4 iz A L A 11 ~12H 918 1, 837
%4 iz 'y L 'y 1~3/ 488 976
fes e = 4 4~6H 12, 205 24, 411
g e = 7H~9H 8, 692 17, 381
K %4 e & 10H~12H 4,743 9, 486
K %4 e = 1H~3H 602 1,204
fes s < = A 4 4~6H 3,115 6, 230
g [ < = W 7 H~10H15H 2,215 4,431
KA 1 <& W 104 24 49
KA 1 <& W 11H~12H 1,449 2, 899
KA 1 <& W 1H~3H 11, 316 22, 631
KA 1 <& W 1 H 227 454
"2 K v O — = 6 A~7H 6, 872 13, 735
"2 K v O — <= 8 H~10H4 16, 609 33, 206
4 K O — < v 4 4~5H 1,525 3, 049
& F O — = 11 ~12H 4, 696 9, 392
& F O — = 1~3H 926 1, 852
A K v — <= v 6H~6H15H 33 65
F 9 A ZE D 4 4~6H 477 955
F 9 A ZE D 7H~9H 1,920 3, 839
E I (Y VI S 108 ~12A4 654 1,270
F 9 A ZE D 1~3H 2,374 4, 568
fes L i 2 4 4~5H 8, 969 17,937
Z3 | 2 2| 104160 ~31H 20 40
Z3 | 2 2 114 1, 508 3,017
Z3 | 2 2 124~2 H 16, 130 32, 261
Z3 | 2 2 3 H 2,956 5,912
- F & (A &) 4 A 1,921 3, 842
- F & (A &) 5H~6H 7, 580 15, 159
z S R = 7H~10H4 3, 851 7,703
/I it 301, 087 601, 525
QM FEAET
I & B 749,971 1,948, 176]




	【完成版】野菜情報原稿（2008年7月号）.pdf
	2.pdf
	3.pdf
	4.pdf

